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Abstract: The article deals with the comparison and evaluation of the development of economic indicators, such as the costs,
yields, economic result and profitability in the Czech and Slovak Republics for the period of years 1997–2000. The economic
indicators are evaluated and compared on the basis of sample survey results of the RIAFE Bratislava and RIAE (Research Institute
of Agricultural Economics) Prague. The first part contains the evaluation and comparison of the costs, yields and the economic
results for agricultural production and its branches recalculated per 1 ha of agricultural land (a. l.). The second part contains the
evaluation and comparison of the production intensity indicators (per hectare yields, utility), costs per 1 ha, 100 feeding days and
per unit, and agricultural production realization prices. Based on these indicators, cost profitability of the selected plant and animal
products is quantified.

Key words: comparison, costs, yields, economic result, profit, profitability
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– intensity of the animal and plant production,
– costs of the plant, animal and agricultural production

recalculated per 1 ha a.l. and per 1 SKK,
– yields of the plant, animal and agricultural production

recalculated per 1 ha a.l. and per 1 SKK,
– production costs per 1 ha, resp. 100 feeding days (FD)

and per unit, i.e. 1 ton (t), liter (l), kilogram of live weight
(kg l.w.) recalculated to SKK.
!��� 
�
����� �
���� ���� L���	�	��� ��� �
�
������ ����

�����������������
���	���
����	���������	��	�����%
����
����1� �
��� 
– realized production prices.

:�������������	
��
�������
�������������

����������
�

�������	����������
�
��	�
������
�� �!��������
���
���
����
�	������
�������	���G&������&&�������������������

�����������	���&&���������
��
�	�����������������K

M��� $���

())* ( -5N

())+ ( -)*

())) ( ()5

,--- ( ()*

"����
�����������
�
�	���������
���������	��
�������
�
�
���������	������������������
���(����� � �����L���	���	�
��������	����������������������
���������	���� �$������
	�������
�
����	
���������������L���	�������
�
�	��	��	�
���
�� ��� ���� �	��������� 
�� ���� 
��� �
���� 
��� ��	�� ���
����	����
�
����	
��
�	�� 

"��L����	�������
�
�	���	�	���	��	���
��	��O��������L�
�
�	����
�K

100
unitper  costsProper 

unitperProfit
×=R

"���
�
����������������� ��������� �
�� ����
��	
��
�
������())*0,--- 

��
,��
��	
�
�
",

��	

!����
���	�

����������
���	�������	����������	�������
���
�
����	
���
����������
�������	��

	���
��
�
������
����
�	����
��	�
��������
��
�
����	
������
�� �9��	���
��	���
�
����	
��
�
�	���	�	���	��	��������������������	����
������
�
�������
�	���� %
�
�����
�	���1�� ����	���	���	
�
������	����%����	�	������������1������������	������������
�
���
������
�
�������%
����	���	
��
���
����L���	���
�
�������������� 1 

���
������
�	�������������������

�����
��������
�
�	�
�
��	�	
�������
�	�����	��!�����(������
�������
�
��	�
�
��
������
�	���	��	�����������	�������$������$���	���	�
�����������������	���������
�
�	���
��	�	
�� 

���	��
��	
�����
����������������������	�������$��������	�
���
������
�����������

�����
������
�	����
��	�
����	��


���	�������������	�������$ �"�	���	�������$�����
�	����
�
	�
����	��������������������	��,---����	��������
�	�
���

��	
���	�������$�����������������
��	������	��
��������
	��������������
��� 

;������
���������������������	��������������

�
�����
���	���������
�
������
�	����	�������$������
�	����	��������
�����������	��,---���������	����
��������������
��������
�	�������	�
���
�	��� ���������$�%����
���
��()))1�����
���	���������
�
������
�	���������������������	�	������
���	����
��������������
����%����
���
��())+1�����������
�
����	�
���
�	��� 

������)�����������������-��������������������

���!����������� ���!��!��������!��������������

!����
����
���(����� � �	���������	���������
�
����	
�
%!�����,1�	�������$������$���	�������������������	������
�
�	�
����
��	
��%�
����
�)* PO�	�������$�����)+ +O�	�
�����$1 �!����
��
����������
����	��
��	
���������	����
����� �����

����� 	�� ���� 
����� ���� ��	���� 
�
����	
�
�������� � "�	��� 	�� ���� �$� ���� �$� 
����� 
�
����	
�
������������
������	������	����������������	����
�
����
�	
������������
��������	����

 �!����
����������������
�����	�����	�������$������	�������$ 

!��� ��	����
�
����	
������������������ ����	��� ���
���	���������
�
����	
���
�����
������������������	���
��
��
���	�� �!�����	����
�
����	
���
������
��������
��

5-O�
���������	���������
�
����	
���
��� 

9�����
�������
�
��	�
��	���&&�����������
����
��
�����	�������$�������
�����
���
����
���(����� � ������	���
������,50P-O������	�������$ 

:�
������
��
����������
�������
��������	���
����
���
��	�������	��������	
�����	����������������	����
�������
�
�	����������������������
�
�	���
��	�	
�� �����
��������
������
��	�	
���������
����
���(����� � ����������

�
� 
N-O�������
�������
����	������������������
��	�	
�� �7
��
��
����	����	�����������������
������
�����	������
����

�
����	
���������� �!����
����	���
�������������
��	�

!�����( ����������������������
�	���	��	����	���������������
��
����$�
���	���%�$������$1

���	���
� ())+Q)* ()))Q)+ ,---Q))

3�	����
�����	�������� �$ (-, R ++ R (-) ,

�
������ �$ )) * )+ , (-* ,

3�	����
��	������	�� �$ (-N N )5 5 (-R -

�
�������
���

������� �$ (-R P (-( P (-N ,
�������������

�
�������
�	����
� �$ (-P 5 )N , (-( *
�

����������� �$ (-N + (-, * (-N ,
���������

3�	����
��	�
����	��
 �$ )+ , )R 5 ((- ,
���	������� �$ (-P ( (-P ( (-) ,

�
����K
!��� ��

��� 
�� ���� ������ 
�� 	�� ���	�������� 
�� ���� �$� �
�� ,---
!��� ��

��� 
�� ���	�������� ���� �

�� 	�������� 	�� ���� �$� %,--(1



10 AGRIC. ECON. – CZECH, 49, 2003 (1): 8–13

�	
����� � �	�������$����������
����(QR�
�������
����	������
�������������
��	�	
�� ����������	
�����
��	�	
����������
����
����������������
������
�����
�
����	
��������	�����
�
��
��������	����
����
�������
�������������
��	�	
�� 

!����	�����
���(����� � ������

����	�������������	������
�
�	�
����
��	
��%!�����R1 ���������$���������	��������

�
����	
���	�������	��������	����%(-( 51�����	�������$
�������


���%)5 N1 �����
�����
���	��������
�����
�
����
�	
���	�������


����
������
�������
����
���	��������	���

�
����	
����	�����	��������	��� 

�	�	����������	��������
���������������	�������	��������
�	������	���������	����
�
����	
����
�����	�������$������
�	�������
�����
�
����	
� 

9�����
�������
�
��	�
��	���&&�����������
����
��
������������	���������
�
����	
���	�������������
���(���
� � �������	���������

�
� �,+ -0PP -O�	�������$������	�
�����$ 

2����
����	���������
����	���������

��������
�
�	�
������������

����	������������������%!�����P1 ���������$�
�����������
�����	��������������������	��())*0()))�����

�
�	�����������G&�)((�
���(����� � ���������	��,---����	��
	�������$����	��	��	���
�������������
��	����	���%����
�
�	��
�
���
��	����	
�1 ����,---����������
�������
��������	����
	���
��	�	
���� ���� �
������������&&�(* -�
���(����� � 
/�����������������
�����
�
����	
�������������
�
�	�����

%���
 ��	�������	�����
���	�������$�	��,---1������������	���

�
����	
������������� �
������	��� 	���
��� ��
���	�� 
6	������	��,---�������$���	����
�
����	
����������������


�	�	�����
�
�	���������
���&&�(N -�
���(����� � 

!�����, �!��������

�����
�������
����	���������	���������
�
����	
�����������	�������$������$�
���(����� �� 

���	���
� �
����� ())* ())+ ())) ,--- ������,---Q)*

3�����
�
����	
� �$�	���G& (P�,() (P�-*) (P�-*, (P�N(R (-, (
�$�	���&& (N�(PR (N�PPN (5�+R- (*�R*,
�$�	���&& ((�R5N ((�R+5 (-�*(* ((�N(( (-( R

:�	����
�
����	
� �$�	���G& ()�(N, ()�(NR (*�+N- (*�)+- )R )
�$�	���&& ,-�R)* ,(�-(( ,(�RP) ,(�N,,
�$�	���&& (5�*N5 (*�-+N (5�R(5 (5�,*R )* (

:��	���������
�
����	
� �$�	���G& RR�R*( RR�,R, R(�),, R,�P)R )* P
�$�	���&& RN�NP- R5�PN5 R+�(*) R+�+)P
�$�	���&& ,+�(,( ,+�P*( ,*�-RR ,*�*+P )+ +

�
����K �
���������� 
�� ���	��������� 
�
������ 	�� ���� ���	��������� �����
�	���� 
�� ���� �$� �
�� ())*�� ())+�� ()))�� ,---
3�

��� �
���� ���� ��
�
�	�� �������� 
�� ���� ���	��������� �����
�	���� 	�� ���� �$� �
�� ())*�� ())+�� ()))�� ,---

!�����R �!��������

�����
���	�����	���������	���������
�
����	
�����������	�������$������$�
���(����
�����	��������������%� � 1

���	���
� �
����� ())* ())+ ())) ,--- ������,---Q)*

3�����
�
����	
� �$�	���G& (N�*NP (N�-P5 (P�P-+ (N�*,R )) +
�$�	���&& (5�**+ (5�N-N (*�,,* (+�+,-
�$�	���&& (,�)R5 ((�+)N ((�,,* ((�P*) ++ *

:�	����
�
����	
� �$�	���G& (*�(,N (*�N** (5�R-P (*�5+( (-R ,
�$�	���&& (+�,R+ ()�,+, ()�N-- ,(�(5P
�$�	���&& (N�+P5 (5�RNR (N�),, (5�,++ (-, +

:��	���������
�
����	
� �$�	���G& R,�+*) R,�5,R R-�*(, RR�P-P (-( 5
�$�	���&& RN�-(5 RN�*+* R5�*,* R)�)+P
�$�	���&& ,+�*+, ,+�,P+ ,*�(P) ,*�*5* )5 N

�
����K �
���������� 
�� ���	��������� 
�
������ 	�� ���� ���	��������� �����
�	���� 
�� ���� �$� �
�� ())*�� ())+�� ()))�� ,---
3�

��� �
���� ���� ��
�
�	�� �������� 
�� ���� ���	��������� �����
�	���� 	�� ���� �$� �
�� ())*�� ())+�� ()))�� ,---

!����� P � !��� ��
�
�	�� ������� 	�� ���� ���	��������� 
�
����	
�
���������	�������$������$�
���(����� �� 

���	���
� �
����� ())* ())+ ())) ,---

3���� �$�	���G& (�NRN )5* RR5 (�,(-

�
����	
� �$�	���&& (�5RN (�-5- R)* (�PP+

�$�	���&& (�N*( N-) N(- 0R,

:�	��� �$�	���G& 0,�-,* 0(�N*5 0(�NP5 0,))

�
����	
� �$�	���&& 0,�(N) 0(�*,) 0(�+P) 0RN+

�$�	���&& 0)(- 0*R, 0R)P (N

:��	�������� �$�	���G& 0P), 05-) 0(�,(- )((

�
����	
� �$�	���&& 0N,P 055) 0(�PN, (�-)-

�$�	���&& 55( 0,,R ((5 0(*

�
����K
�
����������
�����	���������
�
������ 	�� �������	��������� �����
�	���

�� ���� �$� � �
�� ())*�� � ())+�� ()))�� ,---
3�

��� �
���� ���� ��
�
�	�� �������� 
�� ���� ���	��������� �����
�	���
	�� ���� �$� �
�� ())*�� ())+�� ()))�� ,---



AGRIC. ECON. – CZECH, 49, 2003 (1): 8–13 11

!�����N �!��������

�����
������	�����	���
�������
������������������	���	
��
�	����
���������������
�����
�
������	�������$������$

B
3�
���� �
�����

B B B Ø    Ø
B

M	����	� �
��� 
�� M	����	�
����	� 

M	����	� �
��� 
�� M	����	�
����	� 

B B
�Q�� ������� �Q��


�	��
�Q�� ������� �Q��


�	��

())* ())+

"���� �$�	���G& P 5) (R�P+, ,�N,) R�)-P P NR (R�)5N ,�*(( R�*()
�$�	���&& B (P�RN+ ,�5)R P�(N+ B (N�R,- ,�)*P P�-+-
�$�	���&& P )5 (N�()R ,�)N- R�)() P *, (N�RR, R�(RN R�5NP

9����� �$�	���G& P RN (,�,-- ,�R+N R�PN- P -* ((�PR5 ,�R)( ,�+*(
�$�	���&& B (,�))R ,�NP- R�5*P B (,�NPN ,�5,R R�(P)
�$�	���&& P -- (,�*PR R�-P+ P�-R) R +* (,�NP- R�-)* R�N++

$�
� �$�	���G& , *( (N�P55 N�*(* 5�N+R , 5N (N�-5R N�5*N *�-5)
�$�	���&& B (5�P*( 5�-+) *�-(( B (5�N,P 5�,,N *�*NN
�$�	���&& , N) (+�-N+ 5�)P+ 5�)NP , ,P ()�*5) +�*)5 *�,-R

����� �$�	���G& R+ ,+ R5�5*5 )N+ +N( P( PR R)�,)P )P+ *+(
���� �$�	���&& B R)�-5- (�-,- )-5 B PR�(-5 (�-P- +N*
B �$�	���&& R5 ,* R*�P(, +*- )+( R) ,N P-�N)P (�--P 5+(

3
���
�� �$�	���G& ,R R+ N+�+55 ,�N(+ ,�RNR ,N 5P 5(�++( ,�P(R ,�N-,
B �$�	���&& B 5,�5), ,�5+, ,�N-5 B 5*�++R ,�5P* ,�*PN

B �$�	���&& (5 N* +P�+)+ N�(,P R�P*+ (+ *( )P�P+* N�-N- N�(R-

())) ,---

B"���� �$�	���G& N (+ (R�NR( ,�,)5 R�-,, P *R (R�-(, ,�P() R�,5)
B �$�	���&& (5�(+R ,�*P5 R�5(P B (N�N*N ,�+)5 R�)(R

�$�	���&& P ,N (N�5-, R�N,) R�N() R R+ (N�N-) P�P,R R�)N(

9����� �$�	���G& R )P ((�NRR ,�P+* ,�,*, P ,) ((�RN- ,�,N- ,�+*)
�$�	���&& (R�*)R ,�)*P ,�*(* B (R�N+5 ,�5)R R�PP5
�$�	���&& R ,) (,�-R5 R�N-P R�PN, , ,P (R�-N, N�5() R�++5

$�
� �$�	���G& , +N (N�NRR N�PN* N�P*R , +( (N�**) N�5-+ 5�(5,
B �$�	���&& (+�N** 5�N,5 5�NPN B (+�++* 5�*(R *�R*5

�$�	���&& , RR (*�N+* *�NR5 *�(P- ( 5, (+�+-R ((�NN- *�R*-

����� �$�	���G& PN NN R*�P)N +,R *)) P* +) R5�P*R *5, (�-R+
���� �$�	���&& PP�+PP )+P )N5 B PR�5N+ )(, (�,P,

�$�	���&& PR )P R*�55N +P, +*, RP *) P(�-,5 (�(5( (�-5+

3
���
�� �$�	���G& ,, (P 5,�P,* ,�+() ,�)PR ,5 ,) 5R�5,( ,�P,- R�(-5
�$�	���&&B *P�55R R�R*( R�N() B *5�(NP ,�+)* R�*(+
�$�	���&& (R 5, ++�-5* 5�P5P 5�(** (* +N ((5�P+N 5�N,+ 5�(NN

�
����K !��� �
���������� 
�� ���� ���	��������� 
�
������ 	�� ���� �$� ���	��������� �����
�	���� 	�� ���� ������ ())*�� ())+�� ()))�� ,---
3�

��� �
���� ���� ��
�
�	�� �������� 
�� ���� �$� ���	��������� �����
�	���� 	�� ���� ������ ())*�� ())+�� ()))�� ,---

������)�������������������������������������������

���������.���� ���!��!��������!���

��������	
���


$�����	���
�����
�
����������������������������
���

�
����	
��	�����	���	����������	�������$����
���������

������������	�����%!�����N1 �2��	���())*0())+��
�������
��

���	�����
��������������	�����	�������$������	�����
�$ �"	���
�����
�����
�
��������	��	���������	����
�	�
�
����
��	
���
�
����	
��	�����	��������
����	�������$
�����	�������$ �$�����	�����������������
�������
��������
�����	�����������	�������$���������
����+,O�
������������	�
�����$���	��������������)5O������	���

���
���
����5,O 
:��
�����	�	�����	����	
��
����������	����	��,---������
��
�������	�������������
������������������������
�����
��	���	���
��	�	
�� �S
�����������
���������%!�����N1�
��

(����
��������������
	��
������%�������������	���&&1����
���
����L����	���
�����
���	�� ���������$���
�����
���
������
����
���(����
�������������������
������
�������
�
��	��������
����
���(����
��

���
���	�������$�������	����
���RN0N,O������	�������$ �!��������������	��
����������
�
�������
�
����	
��	�����	��������

����������������K
– 1 ton of cereals and oil-plants are produced more expen-

sively in the SR than in the CR
– sugar beet (except for the unfavorable year 2000) is pro-

duced with lower unit costs in the SR than in the CR
– low crops of potatoes in the SR but considerably higher

per hectare inputs than in the CR caused that 1 ton of
potatoes was produced twice more expensively in the
SR than in the CR.
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– in milk production, more costs per 100 heads of cows

were spent in the CR than in the SR. Despite a higher
utility in the CR, 1 liter of milk was produced in the SR
with approx. by 5% lower costs than in the CR,
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– a different situation was in the cattle fattening. At a
higher utility in the SR but slightly higher costs per 100
heads of cattle, 1 kg l.w. was produced somewhat chea-
per in the SR than in the CR,

– a different situation was in the pigs breeding. Due to a
lower utility in the SR but higher costs per 100 pieces of
pigs, 1 kg l.w. was produced with higher costs in the SR
than in the CR.
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